
www.ronixtools.com

CORDLESS TOOLS

8657
20v brushless angle grinder kit

Number Name

1 Outer Flange

2 O Ring ø17×ø21×2

3 Inner Flange

4 Protect Guard

5 Spindle M14

6 Key 3X10

7 Dust Cover 

8 Screw M4×14

9 Front Cover

10 6201 Bearing 

11 Bearing Gland

12 Screw M4X10

13 Wheel Gear 

14 Circlip Φ11

15 Needle Bearing HK0709 

16 Gear Box

17 Screw ST4.2×22F

18 Circlip Φ6

19 Spring  

20 Spindle Lock

21 Sponge

22 Fixing Screw M6

23 Pinion Gear

24 O Ring 

25 Bearing 608

26 Clamp #45

27 Screw M4X10

28 Rotor

29 Bearing 607

30 Wind Guard

31 Stator

32 Housing

33 Right Handle

34 Screw  ST3.5*22

35 Screw  ST3.5*16

36 Switch

37 Controller

38 Plug Pin

39 Left Handle

40 Dustproof Mesh cover

41 Spanner

42 Side Handle

43 4.0Ah Battery

44 21V Charger


